Package contents

Name: MUFFIN PC851/ WOOD 03B
Suspension Lamp

Components 1x ceiling canopy bracket, 1x wooden ceiling canopy, 3x hex screw
included with unit: (M5x16), 2x hex screw (M4x12), 2x hex key, 1x steel suspension cable
with safety stop and tubular mount, 3x wire connector terminal,
1x glass shade, 1x wooden body, 3x silicone rings, 1x plastic ceiling
canopy fixing ring, 1 pair cotton gloves, 1x installation manual

(V744

530

Assembly

Installation must be carried out by a qualified electrical technician only.

Switch off power at main circuit panel prior to installation!

The manufacturer assumes no liability for damage resulting from incorrect installation.
1.

Installing the ceiling canopy bracket and tubular suspension cable mount

Choose sufficiently strong ceiling anchors (not included) and secure the ceiling canopy bracket and the
tubular cable mount to the ceiling. With regard for various types and conditions of ceiling materials, we
recommend consulting an expert prior to installation. The manufacturer assumes no liability for incor-
rect installation or defects in the material to which the ceiling canopy bracket and tubular cable mount
are to be secured.

2. Assembling the light
Install the light source.
Insert the glass shade into the wooden body. Secure it by tightening the three M5x16 hex screws until
they are perfectly flush with the surface of the wood. If the screws are not sufficiently tightened, i.e., they
protrude from the surface of the wood, the glass shade may fall out of the wooden body; on the contrary,
excessive tightening of the screws, i.e., sinking them beneath the surface of the wood, will likely result in
damage to the glass shade. The manufacturer assumes no liability for such damage.

3. Installing the light
Have an assistant hold the assembled light (wooden body + glass shade).
Being careful not to fray the end of the steel suspension cable, thread the silicone rings onto it. The rings
will serve to create a wave effect in the power cord by affixing it to the cable. Pass the suspension cable
through the first part of the tubular mount - the cable safety stop (Fig. *3A). Unscrew the second part of
the tubular mount (Fig. *3B) and pass the cable through it. Secure the cable by pressing parts *3A and
*3B together. Next, pass the cable through the hole in the side of the tubular mount (Fig. *3C). Once the
light is installed, cut the cable so that it partially protrudes from the hole. Never cut the cable prior to
installation.
Following these steps will ensure the steel suspension cable is properly secured and able to safely sup-
port the full weight of the light.

4. Connecting the light to the building wiring
Pass the power cord through the silicone rings on the steel suspension cable and then through the
wooden ceiling canopy and secure the canopy from below with the plastic fixing ring. Connect the light
to the building wiring, including the ground wire attached to the ceiling canopy bracket. Use the two
M4x12 hex screws to secure the ceiling canopy to the bracket. Restore power at the main circuit panel
and check the functionality of the light.

Removing the glass shade and disassembling the light (2 persons)
To remove the glass shade, follow the steps for installation in reverse order. The light can now be
disassembled (e.g., on a table).

Prior to shipping, the functionality of each lamp and its components is thoroughly tested.
The manufacturer assumes no liability for the mishandling of products.

Installation time: 0.5 hr (2 persons)

TECHNICAL SUPPORT OFFICE 3
info@brokis.cz Spanielova 1315/25, Praha Repy, 16300, Czech Republic
www.brokis.cz ICO 64940799, DIC CZ64940799
BROKIS
SHOWROOM AND FACTORY

Sidlisté Janstejn 39, Horni Dubenky, 588 52,
Czech Republic



TECHNICAL SUPPORT
info@brokis.cz
www.brokis.cz

OFFICE

évpanielova 1315/25, Praha Repy, 16300, Czech Republic
ICO 64940799, DIC CZ64940799

SHOWROOM AND FACTORY
Sidlisté Janstejn 39, Horni Dubenky, 588 52,
Czech Republic

BROKIS



protective cord

Building LNP

| Wiring
@ @ Suspension

TECHNICAL SUPPORT OFFICE 3
info@brokis.cz Spanielova 1315/25, Praha Repy, 16300, Czech Republic
www.brokis.cz ICO 64940799, DIC CZ64940799
BROKIS
SHOWROOM AND FACTORY

Sidlisté Janstejn 39, Horni Dubenky, 588 52,
Czech Republic



Obsah baleni

Nazev: MUFFIN PC851/ WOOD 03B
zaveésne svitidlo

Komponenty keré stropni drzak s baldachynem, 3x imbusovy Sroub (M5x16), 2x im-

jsou soéasti baleni: busovy Sroub (M4x12), 2x imbisovy kli¢, 1x stop lanko s nosnou tru-
bickou, 3x pfipojovaci svorkovnice, sklenéné stinidlo, dfevéna montu-
ra, 3x silikonovy krouzek, zajistovaci plastové ocko, bavinéné rukavice,
instalacni manual

oLy

530

Instalac¢ni manual

Montaz smi provadét pouze pracovnik s odbornou elektrotechnickou kvalifikaci.
Pfed montazi vypnéte privod elektrického proudu!
PFi nedodrzeni montazniho navodu vyrobce neruci za pripadné vzniklé skody.

I Instalace stropniho drzaku baldachynu a nosné trubicky stop lanka
Zvolte dostatecné silné kotevni prvky (neni soucasti baleni) a pfiSroubujte ke stropu drzak stropniho bal-
dachynu a nosnou trubi¢ku stop lanka.
S ohledem na rlizny typ i stafi materialt stropl doporu¢ujeme montaz konzultovat s odbornikem.
Vyrobce svitidla neodpovida za nevhodné zvoleny pracovni postup ¢i vady materialu, do kterého se nosny
komponent instaluje.

2. Kompletace svitidla
Instalujte svételny zdroj.
Do drevéné montury vlozte sklenénou ¢ast stinidla. Zasroubujte 3 stavéci Srouby (Cerviky) tak, aby byly
zarovén s povrchem montury. Pokud nebude Sroub dostateéné zasroubovan, hrozi nebezpeci propadnuti
sklenéné c¢asti svitidla. Pokud bude Sroub zasroubovan pod Uroven povrchu difevéné montury, hrozi zde
vysoké riziko poskozeni stinitka Sroubem. Za tuto vadu vyrobce nerudi.

3.  Instalace svitidla

Zkompletované svitidlo (dfevény dil + sklo) si nechte pridrzet spolupracujici osobou.

Navlecte na ocelové lanko silokonové krouzky (sluozi ke zvinéni kabelu na lanku) a prostrcte jej nejprve
prvni ¢asti nosné trubicky - tzv. pojistkou pro zadrhnuti (obr. *3A).

Odsroubujte druhou ¢ast nosného valecku (obr. *3B) a navlecte ji na neroztrepené lanko. Stlacenim

dilt *3A a *3B zabezpedite lanko proti vysunuti. Nasledné provlecte lanko postrannim otvorem nosné
trubicky (obr. *3C). Po instalaci zastfihnéte lanko tak, aby z postranniho otvoru ¢aste¢né vycnivalo.
Lanko nikdy nezasttihavejte pred instalaci. Dodrzenim tohoto postupu zajistite bezpecné ukotveni lanka,
jez nese celé svitidlo.

4. Elektro instalace svitidla
Elektricky kabel protahnéte silikonovymi krouzky na ocelovém lanku, nasledné dievénym baldachynem
a zafixujte jej zajistovacim plastovym ockem. Zfidte elektrické propojeni svitidla s elektroinstalaci, a to
vcetné ochranného vodice, umisténého na drzaku baldachynu. Pomoci dvou imbusovych sroubkl a im-
busového klice prisroubujte baldachyn k stropnimu drzaku.
Zapnéte prislusny jisti¢ a ovérte funkcnost svitidla.

Demontaz skla véetné celkové deinstalace svitidla (2 osoby)
Pro demontaz svitidla postupujete v opacném sledu vySe popsanym postupem pro jeho instalaci.
Nyni mizete svitidlo demontovat v kontrolovanych podminach - napf. na stole.

U kazdého svitidla véetné jeho komponentu je pred expedici dikladné zkontrolovana
jeho funkénost. Vyrobce nenese odpovédnost za nespravné zachazeni s produkty.

Doba instalace: 0.5 H (2 osoby)

TECHNICKA PODPORA sipLo )
info@brokis.cz Spanielova 1315/25, Praha Repy, 16300, Czech Republic
www.brokis.cz ICO 64940799, DIC CZ64940799
BROKIS
SHOWROOM A VYROBA

Sidlisté Janstejn 39, Horni Dubenky, 588 52,
Czech Republic



TECHNICKA PODPORA
info@brokis.cz
www.brokis.cz

sibLO )
Spanielova 1315/25, Praha Repy, 16300, Czech Republic
ICO 64940799, DIC CZ64940799

SHOWROOM A VYROBA
Sidlisté Janstejn 39, Horni Dubenky, 588 52,
Czech Republic

BROKIS



protective cord

Building LNP

Wiring
| I @ @ Suspension

TECHNICKA PODPORA sibLO )
info@brokis.cz Spanielova 1315/25, Praha Repy, 16300, Czech Republic
www.brokis.cz ICO 64940799, DIC CZ64940799
BROKIS
SHOWROOM A VYROBA

Sidlisté Janstejn 39, Horni Dubenky, 588 52,
Czech Republic





